1

4.

dfor ST T ge e wepTer @ R B AR
mém%zﬁwmmsraﬁﬁ:snﬁug

T e S

(1) webter @1 fereenus

(2) W &7 g

Y TmT9T 6T e C

(4) TeBI9T &1 WedTaa AN}

(5) s vﬁfr 2 A

Prfifaa % 1 ot 11 @ gafrr @t -
I It
N w1 T YA I
A, TFE~_ I sarg
B. #gsn B | A
C. & I, freg (i)
D- m JRE— MAM\_I\/. ?'tTﬂT
(1) A-lI, B-I, C-II, D-IV
(2) A-llI, B-1, C-IV, D-II
(3) A-IIL, B-IL C-IV, D-I A - D
711, B-I, C-I1I, D-1V
(5) ST =E A arEd
we-1 9 € g Aaf @ w-11 A & v wef % w
gafera &Y :
-1 -1 1
A. -ty I fraw
B. T 1. Eghm
C. apa I ERgEiites ara
D. s IV. &gt
e ﬁmgﬁ :
\ (WAL, B-I, C-1II, D-II .
(2) A-IV, B-1, C-II, D-IIT A
(3) A-L, B-IV, C-IIl, D-II  ¥ivwe- |
(4) A-1V, B-III, C-1, D-II
(5) JEX E T A
T &l AT B ANT I Y Whear Heal & —
X)) g
(2) ®erg
(3) Prearer A V6. D
4 .
(5) waT F& W1 @Ed

Mirror changes the direction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

(2) Scattering of light

(3) Reflection of light

(4) 'Reversion of light

(5) Not attempted

Match the following I and II :

I . II
Name of the Organ of
Organism Respiration
A. Human being I. Trachea
B. Earthworm II. Lungs
C. Insects : III. Gills
D. Fish IV. Skin

(1) A-, B-1, C-II, D-IV

(2) A-IIL B-IL. C-1V, D-II

(3) A-IIL B-II, C-1V, D-I

(4) A-II, B-1. C-1II, D-1V
" (5) Not attempted

Match the items in column-I with those in

column-II : -
Column-II

Column-I
A. Salivary gland 1. Bile juice
B. Stomach “ I Insulin
C. Liver %‘L/)‘{I/ Hydrochloric Acid
D. Pancreas P Amylase

Choose the correct option :

A1) A-1V, B:l, C-III, D-II
(2) A-1V, B-1, C-II, D-III
(3) A-L B-1V, C-lI, D-II
(4) A-LV, B-III, C-1, D-II
(5) Not attempted

The process of loosening and turning of the
soil is called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted
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gadid wLh HETTOT ey
(4) g9 BT TAE A frw 3 A

Bl TS gasia
(5) T TE A A Am F\

{

6. @ @ T m@ﬁi“mﬁ Arett—amren a7

“(0) et ,
s Ans. A
(4) Ta1 =

(5) wat wE & ared

¥

7, aEeay (2rEwge) fud ﬁ‘m ?v‘

' i
(2) ooy
(3) WA s - A
(4) @ Ty
(5) v wéY A W L

8. frafifag & @ a- gl ¥
(1) ¥w &1 aefwzer
) & Wel Q@ qre] Stery T
a1 Fq oraen A R
&) o ¥ Rt Ay ©
(5) Sox W& dwr =@Ed

S WWWWWW%?
AQ) sz % WY § el o e &
Enqea:aﬁﬁ@rm@?ﬁ““ |
4) urg oy s el J .
() Swx 7Y e @ MA

8.

Pasteurisation of milk is :

(1) Heating of milk to about 70°C for about
30 seconds and then slowly cooling it
and storing.

(2) Boiling of milk and then slowly cooling
it and storing. :

(3) Heating of milk to about 70°C for about
30 seconds and then suddenly chilling it
and storing.

(4) Boiling of milk"’:‘ijnd then suddenly
chilling it. \

(5) Not attempted
P W

g
‘Which of the following food items gives
blue-black colour with iodine ?
(1) Starch
(2) Mincrals
(3) Protein
(4) Fat
(5) Not attempted

Typhoid is caused by =
(1) Bactenia
A2) Virus
(3) Protozoa
(++) Fungi -
(5) Not attempted (»;}

§ o

Y

Condensation is the process of —

(1) Evaporation of petrol

(2) Separation of sand from water by
decantation -

(3) Conversion of water vapour into its liquid
form Loy

(4) Conversion of wap:ézi; into its vapour

(5) Not attempted ¢

Large scale storage ofzfjg}ains is done in :
(1) Silos and granaries.

(2) Jute bags [

(3) Jute bags and metallic bins

(4) Metallic bins

(5) Not attempted

|
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T~ w11
Elcien it et
A. @iq I e
B. el . Gr
C. ush 1. =er
D. g V. 3%

(1) A-I1, B-III, C-I. D-1V
(2) A-11, B-II. C-1V, D-I

\%5’)'/2-“.- B-I, C:IV. D-11I
(4) A-1, B-1V. C-III. D-II
(5) ST & 21 =Gy

11 g o1 @ agd e 1 @) et @ gon
ST My &l ¥

s C

(1) ®q
(2) gam

(3) &H :

L@ s D
(5) SuT 718 A} wEY

12. 53 @ g sita & g wea
TR

(1)-50 &=

(2) 30 3

(3) 40 (é\/@D
Lwns/g

(5) s & I Ay
13. My OF. gersia & <

dar B E1

(2) I8 & GEE @ GUT BT 2 ¥
(3) @Sl wadl B GUT FT 37 T
(4) o T BT A E gy A
(5) ST T < =rEd
14. Frafafaa & @ -—a1 Wramifes &7
(1) srpiear
2) TR o
\ B uitsiEmsiis
%ﬁ%ﬂt{iﬁlﬁﬁz
(5) ST =€ & =S
15. qﬂéﬁaﬂwﬁwﬁfﬁﬁﬁ@mmaﬁ%
9 T B ulear ¥ 7
Pt - %

(1) 4t
p@%w

(3) i

(4) diar

(5) T FE 21 arey
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10.

11.

13.

14.

15,

6 &R & R w0 / space FOR ROUGH WORK

Match the following :

Column-I Column-II
Name of the Movement
Animal

A. Snake I.  Swim

B. Fish II. Slither

C. Bird 1. Walk

D. Cow IV. Fly

(1) A-IL, B-1II, C-I, D-1V
(2) A-lll, B-Il, C-1V, D-1
(3) A-II, B-1, C-1V, D-III
(4) A-I, B-1V, C-I11, D-II
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects
(1) less

(2) equal

(3) very much less

(4) more

heat

~ (5) Not attempted
12.

The minimum distance required by a normal
human eye to see the objects clearly -
A1) 50 cm

(2) 30 em

(3) 40 em

4) 25 em

(5) Not attempted

Pathogens are microbes which :
(V Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(B~Alcohol ‘ :

(2) Sulphuric acid

(3) Erythromycin -

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted
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(1) 472 T8

2 528 AEYL
452 T8¢

(3)/5ﬁ=rﬁ WD

(7. oné o o &1, BT Bl erafiry 37

g

(2) HEA

(3) Fee MP‘

(4) feart

(5) FaT A & AR

(8, Preffad & A B9 wR@ETT & qun gem a7

T 971
¢ M(%

(3) wa fam R
(4) gt &r T
(5) st el &0 9red

19, wera ¥ &) gga Wyl wRw ¥ Us @
me ¥, qEw WG @ a1k \

(1) gy aiatE

(2)&:1#%31

(4) onf7 e
(5) sy e e wEd

i &

(I S L S
s 7
(M) 9%0-110
(2) 110-130

()fq, i @
\_B¥130 - 140
4) 8090

16.

17.

18.

19.

20.

How many total number of canals are there
under 'The Bhakra System’ in Haryana?
(1) 472 Canals

(2) 528 Canals

(3) 452 Canals

(4) 521 Canals

(5) Not attempted

Where is IIIT, Haryana located?
¢1) Sonipat

(2) Kamal

(3) Kurukshetra

(4) Hissar

(5) Not attempted

Who amongst the following was the first
Chief Minister of Haryana?

(1) Bansi Lal
(2) Bhagwat Dayal Sharma

(3) Rao Birender Singh
(4) Banarsi Das Gupta
(5) Not attempted

Fatchabad, is home to two very important
monuments. One is The Lat; which is the

other one?

(1) Humayun Mosque
(2) Dharamkshetra
(3) Banawali

(4) Arjuna Sthal

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State

have?

(1) 90-110

(2) 110-130

(3) 130140

(4) 80-90
(5) Not attempted
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g1. ﬁﬁﬁ%fﬂqaiﬁuw‘rwﬁmnzﬁﬁm
A FﬁUWNﬁSHQTTHﬁaSHW‘T%I
B. szﬁawn%aanaﬁrasmﬁf%

qas%n
Suda wu () ¥ § B gl ¥?

(1) B e
(2) A i B 2y
@ At s & B {MC»
(5) w‘f@fﬁm
22, az@m‘&a%ﬁw%&aaﬂémmamﬁ
(1) 9873
(2) T
25)'"37(43&%?1?13%
,elj/&zfam
(723 ﬂﬁvww W'C
(5) wmﬂ&mmﬁ

(4) A ¥am
AT ¥ 7
M-C
(4) Forarh
23. zﬁmunawmv@m%? '

24, Mﬁnmﬁwmma&%aﬁ
T e
/msm 2018
(2)25wfr 2017
£3) 10 7w, 2011

arfer, 2015
(5) sax el & =

25. éré’rmrwaﬁmmﬁ%?

(2) ®ua Aﬂ "

3) W

(4) fardy

(5) sat =& &1 "Ed

R ]
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| 21.

22,

25,
~ (1) Dahlia™

24.

25.

Consider the following statements :

A. There are 8 Administrative Divisions in
Haryam

B. Panchknla 1s one of the Administrative
Divisions of Haryana.

Which oQtlle above statements is/are correct?

(1) B only-

(2) BothiArand B

(3) Neither A nor B

(4) A only

(5) Not a't'tjémpted

-

Charkhi Dadrl does not share border with
which one of the following?

(D Mahendragarh
(2) Jhajjar-

(3) Hisar

(4) Bhiwani

(5) Not qt}empted

Qood
Which iscthe state flower of Haryana? -

(2) Tulip'™

(3) Lotus

(4) Marigold

(5) Not attempted

In whxch ear was the Pradhan Mantri Mudra
Yojana Iaunched in Haryana?

£ gth Apnl 2018 °

(2) 25t February, 2017

(3) 10th.March, 2011

(4) 8th Alpiil, 2015

(5) Not attempted

V]
Tomb of dbrahim Lodi is located at :

(1) Panipat

. (2) Kaittfal

(3) Jhajjar,,
(4) Bhiwani
(5) Not attempted
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26. H?ﬁ”llqﬁﬁ Rl BT G-Il 9% e @ Prar

-1 -1
A @E @ } BT
B. @HHT 7 Il . Tshia
c. mafws o 1L s
p. @l /% V. arfiya
g faeedl ¥ A A€ ST "y A

Sl |
P A-1V. B-I, C-I, D-IIT [~

2y A-11. B-1I1, C-IV, D-1 V/\'M

3) A-IIl. B-1. C-I. D-1V
pu

) A-L. B-II, C-TII, D-1V
(5) et T A e

47, v e (v o) ¥ e ¥ Preffaa
syl ax et Sy prd
A, TE TH HA Gyed gfer @@ ¥1
B, 98 WRA GIHBIT & T WA & HLrdiies

PrasomelT ¥ [rees
¥ A B Ay wmeT ael R ?

1) B '

[ afe B <l {Mﬂ': /B
G)7ARTE B vy -
(4) Faa A ol
(5) e TE AT A §>‘“

28. g @ g SR e b %2

700,00,000 — 3,00,00,000
) 3.00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4y 1,50,00,000 — 2,00,00,000,

Pna-P

(5) W?ﬁﬁa@ aoys
29, ‘gfyarom w1 |SYS '%Wﬂ%&fmm%?
(1) el
\ (Z)W‘ﬁ(\:ﬁ /}l—\‘ .9 Q\
) POV - o>
(4) urra
(5) weae €Y & awd
L5 %) i
0. i . i e e P B
for &2 (.
(1) feare W
_ ol
(2.)' MC/ el
(4) firear -

26. Match List-I Tourist Centres with List-II their
location.

List-I List-IT
A. Sky Lark [. Hodal
B. Damdama [I. Gurgaon
C. Dabchick [II. Uchana

[V. Panipat

D. Karna Lake
from the options

Choose the correct answer
given below :

(1) A-1V, B-II, C-I, D-I11
(2) A-11, B-III, C-1V, D-I
(3) A-II, B-I, C-11, D-1V '
4) A-1, B-II, C-111, D-1V : "
(5) Not attempted '

Consider the following statements in respect

27.
of the National Security Guards (NSG) :
A. It is one of the Central [Armed Police
Forces. o5
B. It comes under the admini;fr}ztive control
of the Ministry of Defence, Government
of India. !
Which of the above statements is/are correct?
(1) B only
(2) Both A and B :
(3) Neither A nor B D
(4) A only S
(5) Not attempted e
N oL
28. What is the approximately population of
Haryana? W NS
(1) 2,00,00,000 — 3,00,00,000.
(2) 3,00,00,000 — 3,20,00,000
(3) 3,20,00,000 — 3,50,00,000
(4) 1,50,00,000 — 2,00,00,000
(5) Not attempted Lo
29. Which is known as the "Cherrapunji of
Haryana"? a5
(1) Kosli o,
(2) Chhachhrauli i
(3) Rewari ™
(4) Thanesar e
(5) Not attempted
30, The ancient Fort of Madhogafﬁ is located in

which district of Haryana?
(1) Hisar

(2) Jhajjar O
(3) Mahendragarh 5o
(4) Sirsa e
(5) Not attempted -
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31. Ghd T Ul Sae (g s o) % an A

ﬁwﬁ%ﬁ‘@mmwﬁw&mrﬁm

A. eRam B o e ) Rrere 3 o oa &

q sy T

B. sRamn & s ug & § sexrds % o vg @

q arftr ¥

SUdad ¥ ® B gyl s an o8 v
FHad B

32, wateRor gxar qur dada @ Rar § waral @
nm%gﬁv%mwzﬁmwwmﬁ@

fpar ¥ °
8?[ afr%?ﬁam
(2) T AT
(3) dfdq T M:D
RGNS E
(5) waX A& 1 =A™
33, frfafaa wat o R S

shEmT o @ TR T ¥

A. &=
B. ad 2010 # qomdl & sfamon @ TR
YT

®T gl ye fear T
Hot F A B qy T PR ?
(I)WB

) A & B 2R
Byad AT a B

Jhae A

5) wat el & @mwd

%

4. 7o el et A weem ot frdbe el

wel Rua &7
(1) dagpar

|2 s

(3) e

s K
@ wheEE
(5) waY & 0 AR
35. Rt @ foow e & sfwamon wog ey
(3) utyew

T E7
e B
(4) st

(1) e
(5) w=T A& ¥ Ared

IKSHR / X3 / Page 8

32.

33

34,

35,

. Consider the following statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar,

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

For recognizing the efforts towards
environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?

(1) Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

(3) West

(4) North

(5) Not attempted

TH o % R W / SPACE FOR ROUGH WORK P.T.O.



!
|
|

agriﬁﬂ Tl& e
(1)

_o% el

()
(5) T T & A=Y

16.

17, ﬁmﬁf@amaﬁwﬁanw
A, sftamn § 9= gfew srgame ¥
,Wﬁﬂmﬁﬁgﬁﬁmﬁw%l
Wﬁ%aﬁﬁﬂ”r/%wmgﬁ%?

(B :
A ot B <l .
@) T @ A ST B {b\’“\%

(4) A ®ad
(5) wa TE & A
38, F@ aqET Fel Rad &7
m Y
BE| :
(3)%‘81'( M
4) faan
(5) waR &Y & @red

39.%@6@@3%1’(3?%58@?%@@%?
(1) Fromarsty _
| Qg P
©(3) e Wb M (%

(4] gebardt

(5) werx & I, ATEd
0. g o @ A @ ez 1 o 7

(1) arreggror
(2) i

o W

(5) S wdf = @rEd

36. Which of the following is NOT a part of the
traditional attire for men in Haryana?
(1) Kamri
(2) Dohar
(3) Sopali
(4) Safa
(5) Not attempted

37. Consider the following statements :
A. There are five Police Commissionerates

in Haryana.
B. Faridabad has a Police Commissionerate

located there.
Which of the above statements is/are correct?
(1) B only
(2) Both A and B
(3) Neither A nor B
(4) A only
(5) Not attempted

38. Where is Brahma Sarovar located?
(1) Fatehabad :
(2) Kurukshetra
(3) Hissar
(4) Sirsa
(5) Not attempted

39. Fomous sportsperson Yogeshwar Dutt is
associated with which sport? '
(1) Shooting
(2) Wrestling
(3) Javeline Throw
(4) Boxing
(5) Not attempted

40. In the dance form 'Loor', the word Loor
means?
(1) Ornament
(2) Music
(3) Crop
4) Girl
(5) Not attempted

|
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f;()cyaen1()‘%)5‘*733”5&@—’E@%HQWQ—CBFf
41, 2U70

qe e’
) 25%

A .
(3) 27% 5 P

b
}4) 30% [
(5) st Tl e

(\.“ \
42, @ A EEASH A, B, C ol D # sfvew
495%|H@TB@TDWWW@W9

(1) 2450
() 2352 © b=

(3) 2550 . D
UH: {)y\x
Wg o}
(5) TTX 7 %ﬂf“%ﬁ%
e
g |

43. 2 8000 o 5% e i e o

T b oot A % 9261 & wul, saf e
a’lﬁ?ﬁﬂtﬁﬁﬁmf%?

o

3 O

p)/ b

) &= i
3 ‘ [ 23 M : C/

N5

: Lo

31 by

@) 2= (o)

3 L5

te.

(5) weT 7 e
1=

41.

42,

43.

The single discount equivalent to two

successive discounts of 20% and 10% i is -
(1) 25%

(2) 28%

3) 27%

) 30% '

(5) NOt ﬂttcmptcd
¢ Nk

€S

The average. of four consecutive numbers A

B, C and D} ls 49.5. What is the product of
Band Dy |

(1) 2450 [
(2) 2352
(3) 2550

(4) 2499

U

Lol
(&;ﬁ
i _]\.
(5) Not attegmpted

[,

In how many years will a sum of ¥ 8000
at 5% per dripum compound interest,

compoundeﬂ*gnnually becomes T 92619

yx.)

SR

2 i
4= I

@) 43
®ms
o
1 oy
4) 35 fies

(5) Not attgﬁi'pted
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44, 5-ofara qad B e, i 12, 15 aft 18 3 | 44. The smallest 5-digit number which is exactly

feiforer &, e divisible by 12, 15 and 18 is :
(1) 10,015 (1) 10,015
(2) 10,020 (2) 10,020
\}3)/’@80 fove. - C. (3) 10,080
(4) 10,010 (4) 10,010
(5) TEX TE N AR (5) Not attempted
_ o S
45, 2x33x5%, 23x32x52 7 e 45. The HCF of 22x33x5°, 22 x3% x5%x7
24x34x5><72x11 & HCF & and 24x34><5x72x11 is
2.
(1) 2% x3%x5x7x11 (1) 22x32x5x7x11
(2) 24 %34 % 5° : (2) 24 %34 x5°

3) 29 x3* x589 x7x11 (3) 2%x3" x5 x7x

mx32x5 PWﬁD@ (4) 22x3%x5

(5) & A1 "ed (5) Not attempted
(LSS ES

! | . 46. Wheat at ¥ 9.30 per kg is mixed with another
46. % 9.30 wfy Reciom ar AE w Bl o A quality of wheat in the ratio 8:7. If the

& A ¥ 8:7 % orgara A frerar Tl af ﬁmﬁj mixture so formed be worth ¥ 10 per kg,
&1 9 < 10 wfy Reetam &, 4 T BT A what is the rate per kg of the second quality

&1 e wfa feetum @/ ¥7 of wheat?
(1) % 10.60 - (1) x10.60
\_277 10.80 PW‘% (B (2) T 10.80
(3) ¥ 11.00 (3) X 11.00 »
“r T 10.30 ; 4) % 10.30
(5) e & HqTEd (5) Not attempted
% Hd & T VI / SPACE FOR ROUGH WORK P.T.O.
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47, a:l)%mwﬁvﬁ%mﬁrw’e‘r@m

I ¢ d g @y, ¥

ac + bd

1) ———
Sl
ad ¥bc
ctd

\/Cy)/mf'—bc
c—d

L)

()

M.(/

(’\

ub cd

G-
() m;a@r & e

48. Wﬂrﬁ35%mﬁﬁt‘#ﬁaﬁmﬂml

wﬁwmz?ﬁi% RURCUE

(1) T 1305

(2) 7 150" o

32240, M’D
z 120~

(5) st & A 9w

49. o 0<}é§<1 E, P 4 Y wd dad
we ¥ o

(1) g2 ¥

1 t
@) —

(4) Xy
(5) TaT! T A Aned

47.

48.

49,

The number that must be added to each term .
of @ : b s0 as to get the ratio ¢ : d, is :

ac+ bd
c+a

(M

ad + bc
c+d

2)

ad - bc
c—d

©))

ab-cd €
a-b

(5) Not attempted

“)

Ik & S

A certain sum is divided in the ratio 3: 5»

‘v-:

) z 130 e
) T 150
(3) T 240 .
@) % 120 -

(5) Not attempted

If 0 <x <1, then the greaftest number among
the following is :

(1) 42
o L
@ ~

1
3) w2 .

(5) Not attempted |~
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1
50.Aqﬁmv§l§wsﬁa’fﬁmm%

5 0
wafs B @ @i a5y g’m 10 R & &y

%lAamBa’m’rﬁa‘d‘mwmaﬁ
ﬁmﬁﬁ?ﬁwmm%?

4
b R

243 &
\ @ %%

3) 10

1
@ 75
(5) T T A A ,:":f‘

Rl

51. us #eX arEw, a’rsm’r ﬁfra%az?maﬁ{t’r
65 forit &, %eﬁaaaﬁﬁ?.w%loﬁmzm
¥ o iy Her wiy feed

.mo ‘(W A

) 600

3) 700 s
(4) 200 S
(5) o @ o A

52. Aqur B ¥ mwsn: T 85,065%1@11 Z 15,000 @M
& e et Rear| s ad & 9w, Fre A d
foow orqura & weer @ @iz sgm?

, 1
50. A can complete = of a work in 5 days and

3

2 i .
B can complete 5 of ..thc same work in

10 days. In how many days both A and B
together can complete the work?

4
(1) 8;

3 &I
o et 5y
2) 8 e

() 10 o

1
4) 75

(5) Not attempted Wiy

Lo

51. A motorist travelled between two towns,
which are 65 km apart, if- 2 hours 10 minutes.
The speed in meters per mmute is:

(1) 500 P

(2) 600 '

(3) 700

(4) 200 w

(5) Not attempted ey
' 40

¥ “)‘"

52. A and B started a busmess by investing
¥ 85,000 and T 15,000 respectlvely In what
ratio, out of the followmg, their profits will
be divided after one year?

M35
@) 1533 =
3) 17:3 s
4) 3:4 o

=

(5) Not attempted

(1) 3:5 ::
@ 153 €
173 Wb -
4) 3:4
(5) 3w 7 T ATEd
'KSHH/XS/Page 13
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\ =7
53. Jf—.l+‘x+,l_+1*—x
W/
(1) 2 + }/,\r:)"/:2
_ ),‘3 )C/ /, [/’)/(
£2 et 9
@) 4

A
A4
g
f D

v

(5) saT & T =@

e D

54, 18 0 ST A U st o w A, 3

gmmﬁ%ﬁ%ﬁﬁémaﬁ%?

\A17 216
6
3) 218 M ‘ A
(4) 36
(5) T & e

55. aft 3 =1.732 @ 2 =1.414 &, &

1 :
Bz T
(1) 0.308

\ (20318

(3) 2.146

s B

(4) 0.064
(5) STX T & A

IKSHR / X3/ Page 14

54.

58.

N

Th &
& 19 19T / space FOR ROUGH WORK

X ] 2% __9
S e L
x—1 x+1 1-—x2
1) 2
) 3
(3) 4
@1

(5) Not attempted

How many cubes of edge 3 c¢m can be cut
out of a solid wooden cube of edge 18 em?

(1) 216
@) 6
3) 218
4) 36

(5) Not attempted

If /3 =1.732 and /2 =1.414, then

1

R

(1) 0.308

is equal to

(2) 0318
(3) 2.146
(4) 0.064

(5) Not attempted

p.T.0



\MS%;W%

\/er){,o,l,ras,;:

\JD%MW *i

'KSHR / X3 /! Pana 4k

56. afd A+ B ar ok %, A B @ ud 3y

A~ B @t ad &, 'A, B & ufy &y
A x Bawrad ¥ ‘A, B% far ¥r
eﬁPxQ+R-€é¥m§%;

@ Q.S ¥ -
(2 8, Pa"ruc—vﬁ%;
(3) P, S % frar & .

‘W D

(5) wat &l &= fnsa

by

57. %maﬂﬁ%ﬂ%ﬁm’mmqﬁm

w%lmeﬁ%mmmmmm
SrAr STl dl oraftd e at um wdyet o
Gl
TOAR HU‘
1 234 56
(2)3,6,1,52.4 P’Y"bﬁ
{4y 2,4, 51,3, 6
4 4,2,1,6,3,5

(5) e fi & e

Nectard

58. o9 e a1 g e, | dE ww § 4

W weft ¥, fre e qEw 9e, V6 9 H
Haiftrg &

B ;v ;T
(2) wrew W P‘
(3) ey’
4) e ~
(5) weR Ty 2 e

56.

58.

If A+ B means 'A is brother of B'.
A — B means 'A is the husband of B'.
A x B means. 'A 15 the father of B
Then P x Q + R-,E‘—ftS means :

(1) Q is the h'usgggd of S

(2) S is the \\‘ife?f P

(3) P is the fathe!r ;)f S

(4) P is the fathéé\iﬁmlm\' of S

(5) Not attempted}

[~

A set of English letters is given below in a

jumbled order. Seélect the combination of

numbers so that the letters arranged
accordingly will form a meaningtul word.
TOARHU

1 2 3 4 8.

-

1

L

(3.6 1.4.5.2
(2) 3,6, 1,5, 203
3)2.4.5,1.3.6

1,6, 3,5

o

4 4, 2,

.4

(3) Not anemplcdj‘

...) :

e

Choose the option: which is related to the

third term in the-same way as the second -

term is related to the first :
Pen : Write 7 Spade : 2

-

2

(1) Dig s

Roud
(2) Cut &)
(3) Guard gt
(4) Crush =

(5) Not attempted

Abe OGF
LIk Mo p | e

.

B RS Tuy w
MY 9

g @ & g ¥ / SPACE FOR ROUGH WORK

« PO,




60.

\
184
2
e
L
e
1%

59, Rrow @1 T WY
(1) fordea
«3) fepetum

fyo, - 8
(@) am

(5) FaC T & AT

2 @y ol IWS @ A Frend [ eiix 11 Ry g
¥ o T HUAl B T A BU A A
o aedl @ B & )Y 9 wdla B W, Pty Y
fes @ @y Freed Ru o wust % ameme qx
JdhaTd &9 ¥ Freverar ¥Ry ¥
o : W@l AREt uda ¥
o e ud ¥

D- Fo et TerErr ¥)

() %® gefa 7wt ¥)

Faa Prewd 11 Preseer &)

2) fred 1 ol 11 9 Preerr ¥)

(3) 7 Frawd 1 ol = € 11 Preserar 3 -
\ M et Fremd 1 Preserar ¥ ~f"\

(5) suT & ¥ T m
01. gT-gaz yaied ¥ =@, &= T g B a
%@@@mmlmﬁmmw%w

frend

o AN o= ga R R e

W@
(2) ufdeny
(3) ITE—ufyem
L (4) 2fu
(5) Tax = A Ay

e H

62. & n¢ sjwen ¥ guI Wew @ s Wi :
143, 149, 158, 170,

a9.

60.

61.

62.

Choose the odd one out :

“(1) Quintal

(2) Kilometer

(3) Kilogram

(4) Gram

(5) Not attempted

Two statements are given, followed by two
conclusions I and 1I. Assuming the statements
to be true even if they seem to be at variance
from the commonly known facts, decide
which of the conclusions logically follow(s)
from the given statements :

Statements :  All rivers are mountains.

All oceans are mountains.

‘Conclusions : (I) Some rivers are oceans.

(I) Some mountains are
rivers.

(1) Only conclusion II follows.

(2) Both conclusion I and II follow.
(3) Neither conclusion I nor II follows,
(4) Only conclusion I follows.

(5) Not attempted

Early in the morning after Sy
was standing facing a pole. T
the pole fell exactly to Sunny'
direction was he facing?

(1) East

(2) West

(3) North-West

(4) South

(5) Not attempted

nrise, Sunny
he shadow of
s right. Which

Find the missing number {
143, 149, 158, 170,
(1) 185

(2) 190

3) 192

(4) 182

(5) Not attempted

u the serjes -
‘\‘ 203

e 203
85
(2) 190
(3) 192 Wv . Pf
(4) 182
(5) FAX TE T "y
"3 _
U
SV IKSHR / X3/ Page 16
oy ' '
P USSR A ¥ B 1™
g y
Y= SL
X ?Js;‘;,
ST g
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63. Forelt o & wiref a7 whvenr Ry et o, o vl A
& ST HEW b arfery Rer e ar?

\ G T

Tﬁ?ﬂ'{' / /
‘((f)fs O
(4) TeaX
(5) ST T8 = T

we e X, Y, Z, M, N 8t O sw¢ o) ot e
m@ﬂﬁaﬁ@%% AfeT erreareae & ¥ s
vt @ A A7 X o N % i der d1
'M'thﬂﬁ%l "Y', 'N'as-oﬁaszm}%l

v@(ﬁﬁﬁ?}_ﬂﬁ%lM%ﬂ@?ﬁzﬁq%?

B ZeiyY
\Q/Oai’rrx
(3) O st N
4) X 8t N
(5) wux & S @mEd

64. B8

Pt - B

65. aft & gz W & 'VIETNAM' &1 g2
'WKFVOCN' #, it @&t gz wiar 9 'BRITAIN'
@l 5y frar s ?

(1) cTywcesp @
\4D) CTIVBKO W> )

(3) cTIuCIP
4) CTIWBKO

63. The fourth day of March in a year was
Thursday, what was the last day of the next

month in that year?
(1) Friday

(2) Saturday

(3) Sunday

(4) Thursday

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not

64.

necessarily in the same order. 'Z' is sitting
between 'X' and 'N'. 'M'is not at the end. 'Y"
is sitting immediate right to 'N". 'O" is not at
the right end. Who are the neighbours of M?
(1) Z and Y

(2) O and X

(3) O and N

(4) X and N

(5) Not attempted‘:

65. If in a code language "VIETNAM' is coded

as '"WKFVOCN!, then how will 'BRITAIN"
be written in the same code?

(1) CTIWCIP
(2) CTJIVBKO
(3) CTJUCIP

(4) CTIWBKO

(5) Not attempted

() W ¥ 2y e
KSHR / 3 / Pa % Rg T / SPACE FOR ROUGH WORK PT.O.
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66. ‘PN + E % AT Y T ACH SEURLEAS
& ¥~
(1) pereTTa
(2) PR o %
(3) pmeH M ‘t>
FmE St
(5) e & W W
-l
67. ‘wIgEY W qq @ s R ¥ -
(1) faftrar gow \ |
(2) B gou D
(3) @ gou {X\’%
) ghea gew A

(S)Wﬂﬁéﬁrﬂmﬁ

68. mmmmﬁmﬁﬁmwm
T gen ¥ 7

(1) =& = & @ %wwmm

@ i

\/@)/a‘a%m ﬁmmﬂé’rml

(3)33%%%%%:,

(4)@&5{{%‘{*’-113%;@?

(5) waT & ¥ A ME
69. ‘@eradl 4T G H {0, FHGAT FerE ¥ —
\/a/)/muzé’fﬁmu oo

(2) offer 1 oy M .

(3) ST B HEA Pﬂ”*'{%

(4) fraw wrgaT W S

(5) waT E AT AT

‘e ammraaﬁhaswgwwhaﬁﬁ qE ¥ ~

o
(2) sat s
(3) arfarert
(4) =TaaT .
(5) Fa TE 0 A

72.

(S)WH—é‘r%mmﬁ

13,

74.

T3

(2) BargaTE

() g a”

71, % a9 T E -

(1) 7%
(2) 7
3) ™
4) # =
(5) FaT 7 &M m’é‘c’f

aﬁaﬁg&z@ﬁw?m g i ¥ 7

(1) g« '
(2) gt

¢) o S
(4) gie |

H
4

Rt ¥ @ BT eiimer STCeHTT T Ueh o
My P

(1) waEieREgaE
(3) W LS
(5) sTT & I ?TIE?H" =

TR s % R ot swgw
AR T — e

(1) Wi sfrere & wdfere
(2)5133%318%‘{&%"@%
(3) smfrs =R A Hafo
(4) TemmT SR Y- arf
(5) TTT & I =AY

S Wﬁﬁﬁwwﬁmmgm% 2

(1) <rentieten (L

(2) vifse -G

(3) o {
£

!

-

(4) Wit
(5) s A& o Ared
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1950 % =g 4
76’%&#@%&"?}%6%

AR B A gy
K S

@

6) 7.qu.q. {i"'{ ’éf\)b ' (D

. ;ﬁ?;fﬁ 2023 & W @ W20 ) -

(1) BIE] NG
) EUGIER] Y QW C
@) 2T STt &;):‘: ‘ ;
(5) TR TE A AR
|
18. gﬁﬂmiﬁmwaﬁ CIERIE GRS
Frle® saEAl 87 . bty
(1) g
@ :;q LD
(5) e T8 3
79, ﬁwﬁ«rﬁaaﬁ%ﬁmaﬁ AT BT e T’
T AT & ? [
FleH
(2) e s+ A
@) sy -
i T L 2
ORLSUERE
b e o e
5 ziu?g: - =11
' TS . I. 1918
B. ity th 1. 1919
C. firm "Iﬁl@ B sSdIA 1. 1922
;3]-% T iyt 1V, 1930
) iﬁ T ferepedi A ady wat g
A A BeIL G, DIV

76.

770

78.

79

Civil Rights Movement of 1950's put an end
to social discrimination. From where did the
movement begin?
(L) LLK. $
(2) FRANCE <
(3) GERMANY:
4) USA., [
(5) Not attempted
[~

Which country has taken over the
Presidentship of G-20 from India in the year
20237 ,
(1) Canada &
(2) Bangladesh-»
(3) Brazil .
(4) South Africa .
(5) Not attempted

: i
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?

(1) Seven

(2) Nine Ko
(3) Three ~ (-
(4) Five s

(5) Not attempted
Which of the ,!f(:):llowing states is known as
'Sandalwood state of India'?

(1) Karnataka'

~ (2) Meghalaya

80.

(3) Uttar Pradesh
(4) Chhattisgarh,
(5) Not attempted

Match the folig’%ing :

ListdI List-I1
A. Rowlatt Shtyagraha 1. 1918
B. Civil disobedience I 1919
movement
C. Mill workers' strike L. 1922
D. Non-cooperation IV. 1930
movemert-'
Choose the correct answer from options
below : £

(1) A-III, B-IEYE-1, D-1v
(2) AL, B-IV,"C-1, D-III
(3) A-III, B-Iy Q-II, D-1V
4) A-ll, B-1, IC-1V, D-111
(5) Not attempted

/:;J.—unc FOR ROUGH WORK R




g2, drwe ¥ Rra A wfwn ¥ AR gEn qad
TETAW HE-T ¥ 7
(1) e

(4) g9
(5) sat & T A

83. < e e (qoEs)) o e R ad
1959
(3) 1950

gs a?
(1) 1975
= B
“4) 1976 -
(5) s & A =TS
84. argwdnT SrEIa H q@ de fear Tar e fearEr
F Prafafad & 4 g am & o o @ A ?

\/ﬁ'{?ﬁ'& =T p‘
(2) T : «
(3) erEdgIa M .
(4) @1,
(5) wax E A ATEA

85, T e Read wdl ¥ R %7
(3)

(4) o116

(2) ard
(5) TET e AT =red

81.

82.

83.

84.

85.

e in India was the first one to

l')
introduce Mid day meal scheme?

(1) Tamil Nadu
) Karnataka
3) Andhra Pra

@) Kerala
(5) Not attempted

desh

Which is the second largest continent after

Asia in terms of area?
(1) Australia

(2) Africa

(3) Antarctica

(4) Europe

(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1975

(2) 1959

(3) 1950

(4) 1976

(5) Not attempted

Non-cooperation movement was called off
when peasants set fire to a police station in :

(1) Chauri Chaura
(2) Champaran
(3) Ahmedabad
(4) Kheda

(5) Not attempted

Our atmosphere is divided into how many
layers?

(1) Five
(2) Seven
(3) Nine
(4) Eight

(5) Not attempted
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86. RS BbT Reemdt A oty
SRS fhbe Qe ¥ 7

(1) s
s

5w 29 & Ra

\/@(é’ﬁg
(3) emefrar
@) awEse .
(5) FEX TE [ ey

§7. Wa‘fmﬁmﬂﬁﬁqﬁﬂw%mmﬁw
e e &2

(1) 1909
@) 1915

wGY 1916 (L C
4) 1906
(5) TTT TH I Ay

ss.mﬂiﬁﬁﬂ‘éﬁmﬁwﬂﬁlmmaﬁlﬁw,
2005 (FTTEM) F 9IRA Wb ¥ F fpey
feAl & TSTITT @Y Ty & 3o

(1) 75 f&= A

100 fem : ,E
(3) 90 R {8 -
4) 120 f&= '
(5) T & < =rEd

8. o zferr ¥ =nf 2019 % firg e <ot @ gRETC

it ?
\/H’)/Hﬂ‘qg@\‘rﬁ
Q) 1. i el

Q) . Dorem wa P‘V% . A

4) swme fifaeere @
©) st =& T 9

90'm‘mqeﬁmaﬁw‘ et T & 7

1) et

®) SRt fyfay
)

86.

87.

88.

89.

90.

Famous cricketer Ben Stok?s plays
international cricket for which country?

(1) New Zealand
(2) England

(3) Australia

(4) West Indies
(5) Not attempted

In which year did the Congress and the
Muslim league sign the Lucknow pact?

(1) 1909
(2) 1915
3) 1916
(4) 1906
(5) Not attempted

In Mahatma Gandhi National Rural
Employment Guarantee Act 2005
(MGNREGA), how many days of
employment are guaranteed in a year by
the Indian Government?

(1) 75 Days

(2) 100 Days

(3) 90 Days

(4) 120 Days

(5) Not attempted

Who won the '‘Bharat Ratna Award' for vear
20199 :

(1) Pranab Mukherjee

(2) Dr. Bhupen Hazarika
(3) Prof. CN.R, Rao

(4) Ustad Bismillah Khan
(5) Not attempted

Which bird does not make its own nest?
(1) Indian robin

(2) Koel

(3) Tailor bird

~(4) Weaver bird

(5) Not attempted

u ©) vy gy & e

T ¥ forq @ / SPACE FOR ROUGH WORK
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91, Change the following sentence to indirect
speech.
He said. "Nambiar works hard."
(1) He said that Nambiar was working hard.
(2) He said that Nambidr had worked hard.
(3) He said that Nanibihr had been working

hard. fu?

(4) He said that Nanﬂbml worked fard,
(5) Not attempted -

r«i
92. Choose the correctly spelt word :

(1) incradulous
o 1% B

\)2/) incredulous
(3) incredulus
(4) incradulus
(5) Not attempted €3
=)’

93. Pick out the part of‘{the sentence which
“has an error. If there ig-no error, your answer
is "3\ ]

The whole block of ﬂats /

A
including two shops were /
: B .
destroyed in the earthquake
(&
A B '/,) L -

2y © m A
(3) No error i

4 A 4

(5) Not attempted ([

94. Choose the alternative which best expresses
the given sentence in Péssive Voice.
Must we cut this treé?)

(1) Must this tree wds cut?
\ (2 Must this tree becut? Ay 0
- (3) Must this tree iscut? 2
(4) Must this tree will~cut?
(5) Not attempted -
e

95. Find out the synonym of the underlined word

in the following sentence.

Colours, like features) follow changes of '

emotions. <
(1) movements )
\/(2’)/ sentiments G g
(3) under-current  { /)fV’} '
(4) moments e

(5) Not attempted [ .

96. Replace the underlined word/phrase with an
alterpative to make a grammatically correct
sentence. W)

"The ladder will be collapse if you push the
wall with both the hands.
(1) will have collapsed
(2) will have been tollapsing
(3) No change et

will collapse @™
(5) Not attempted

(g P

97. Choosc the '1ltcrnat1vc which best expresses
the meaning of the undcrlmcd idiom.
Our hockey team scnrnd the winning goal
at the eleventh hour
(1) at a crucial tlme
(2) before an hour -

at the last minute-

(4) in the beginning
(5) Not attempted

P C

98. Fill in the blank with’correct form of verb.

Neither of the two fén very strong.
was . [j;‘}

(2) will be "‘ 4

(3) shall be A.

(4) were +{ m

(5) Not attempted [ )

99. Arrange the followmg parts of the sentence
to make a meanmgfﬁl' sentence.
A. to understand CJ)
B. to many people
C. threatening and“gven impossible
D. grammar appears

(1) BDCA -

ACB P _
(3) ADBC M B
(4) CABD

(5) Not attempted k

100. Find out the 'mton)fm’of ‘democracy’.
(1) republic &9
(2) delicacy 3 !
monarchy s C
(4) popular Ui M
(5) Not attempted
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